DISCRETE AND CONTINUOUS DYNAMICAL SYSTEMS SERIES B Volume 19, Number 2, March 2014 doi:10.3934/dcdsb.2014.19.589

pp. 589–606

PERIODIC UNIMODAL ALLEE MAPS, THE SEMIGROUP PROPERTY AND THE λ -RICKER MAP WITH ALLEE EFFECT

YI YANG

Department of Mathematics and Physics Chongqing University of Science and Technology Chongqing, 401331, China

ROBERT J. SACKER

Department of Mathematics, University of Southern California Los Angeles, CA 90089-2532, USA

(Communicated by Yuan Lou)

ABSTRACT. The λ -Ricker equation has, for certain values of the parameters, an unstable fixed point giving rise to the Allee effect, and an attracting fixed point, the carrying capacity. The *k*-periodic λ -Ricker equation is studied and parameter intervals are determined for which there exist a *k*-periodic Allee state and a *k*-periodic attracting state.

1. Introduction. The λ -Ricker equation (1) was introduced in [13] and later studied in [24]. It is a modification of the well known Ricker equation that produces a zero slope to the graph at the origin and for certain values of the parameters gives rise to an unstable fixed point, the Allee threshold as well as a stable one, the carrying capacity. This same effect was also achieved in the Sigmoid Beverton Holt equation [18] and later in [17] where periodic equations were considered and a periodic Allee state and a periodic attracting state were shown to exist. While the Sigmoid Beverton Holt equation exhibits a depensatory effect, the λ -Ricker equation has one added feature that complicates the study, namely over-depensation that causes very large populations to collapse to levels below the Allee threshold and thus go extinct.

Understanding the Allee effect is of paramount importance in the management of fisheries and establishment of safeguards against overfishing [2], [25]. In [29], Stephens and Sutherland described several scenarios that cause the Allee effect in animals. For example, cod and many freshwater fish species have high juvenile mortality when there are fewer adults. Fewer red sea urchin give rise to worsening feeding conditions of their young and less protection from predation. In some mast flowering trees, such as smooth cordgrass, *Spartina alterniflora*, low population density results in lower probability of seed production and germination, [7].

For an in-depth review of the various occurrences of the Allee effect, see [31]. A mapping having essentially the same graph as the λ -Ricker map was studied in [28] and later in [23].

²⁰¹⁰ Mathematics Subject Classification. 39A30, 92D25.

Key words and phrases. Unimodal, Allee, difference equation, discrete dynamics.

See [13] for a discussion of some new examples of models exhibiting the Allee effect and, similar to the Beverton-Holt model, having important biological quantities as parameters, e.g. intrinsic growth rate, carrying capacity, Allee threshold and a new parameter, the shock recovery parameter. Partial results were derived in each case. For the λ -Ricker equation the threshold beyond which period doubling occurred was explored and a condition was given guaranteeing asymptotic stability of the carrying capacity fixed point. This condition will be re-derived in Section 5 using an equivalent mapping that allows us to simultaneously consider the Allee effect. This new equation is particularly useful in considering the composition of these maps by explicitly exhibiting the carrying capacity as one of the parameters in the mapping while the Allee threshold appears as the symmetric point of a parabola-like graph, Figure 1. The topic of period doubling and chaos are not explored here. Further references pertaining to the Allee effect can be found in [1], [24], [3], [4], [8], [23], [30], [19], [28], [32], [34], [14], [15], [16] and for references to the general theory of Difference Equations, see [9] and [26].

In this work we consider the λ -Ricker equation for fixed parameter λ ,

$$x_{n+1} = \mathcal{R}_{\rho}(x_n) \qquad x_0 \in \mathbb{R}^+,\tag{1}$$

where

$$\mathcal{R}_{\rho}(x) = x^{\lambda} e^{\rho - x}, \quad \lambda > 1, \quad \rho > 0.$$
⁽²⁾

We allow ρ to vary periodically within certain bounds and show there exist a periodic unstable Allee state and a periodic asymptotically stable attracting state, both with the same period as ρ and both contained respectively within the envelopes of the Allee thresholds and carrying capacities of the individual maps in the periodic sequence.

2. A mapping equivalent to the λ -Ricker map. For ρ very small the origin is the only fixed point of (2) and it attracts all solutions of (1) having $x_0 \ge 0$. As ρ increases a saddle-node bifurcation takes place and two new fixed points emerge. One of them is unstable and it represents the Allee threshold and the other fixed point is asymptotically stable and represents the *carrying capacity* of the population governed by the model (1). Since we wish to consider periodic environmental fluctuations of the carrying capacity, we shall assume this bifurcation has taken place and rewrite the equation in a form in which the carrying capacity is a parameter in the model. Thus we consider the following modified λ -Ricker Equation for $x \in \mathbb{R}^+$,

$$x_{n+1} = \frac{x_n^{\lambda}}{p^{\lambda-1}} e^{p-x_n} = x_n^{\lambda} e^{p-(\lambda-1)\log(p)-x_n}, \qquad n = 0, 1, \cdots,$$
(3)

where $\lambda > 1$, $x_n, p \in \mathbb{R}^+$. The results obtained will be interpreted for (2) in Section 6.

Define

$$R_p(x) = x^{\lambda} e^{p - (\lambda - 1)\log(p) - x}, x, p \in \mathbb{R}^+, \lambda > 1.$$
(4)

By simple computation, we obtain

$$R_p(p) = p \tag{5}$$

and

$$R'_{p}(x) = (\lambda - x)x^{\lambda - 1}e^{p - (\lambda - 1)\log(p) - x} = (\lambda - x)(\frac{x}{p})^{\lambda - 1}e^{p - x}.$$
(6)

It is clear that any positive fixed point of $R_p(x)$ is a solution of the following equation:

$$x - (\lambda - 1)\log(x) = p - (\lambda - 1)\log(p).$$
⁽⁷⁾

Define the function $u : \mathbb{R}^+ \to \mathbb{R}^+$, see Figure 1,

$$u(x) = x - (\lambda - 1)\log(x).$$
(8)

Thus (7) can be rewritten as

$$u(x) = u(p). \tag{9}$$

The proofs of Lemmas 2.1 and 2.2 follow from

$$u'(p) = 1 - \frac{\lambda - 1}{p},\tag{10}$$

see Figure 1.

Lemma 2.1. If $1 < \lambda < e + 1$, then u(x) > 0 for x > 0.

Note. In the following statements, we always assume that $1 < \lambda < e + 1$.

Lemma 2.2. p is a fixed point of $R_p(x)$. Morever, if $p = \lambda - 1$, then p is a unique fixed point of $R_p(x)$.

Proof. Its follows from (10) that u is 2-to-1 on (1, e+1) except at $p = \lambda - 1$.

For $x \neq \lambda - 1$ (see Figure 1), define $S_x \neq x$ to be the second solution of

$$u(S_x) = u(x). \tag{11}$$

Lemma 2.3. For all $p \in \mathbb{R}^+$, $p \neq \lambda - 1$, there exists a unique solution S_p of Eq.(9) which is distinct from p. In other words, S_p is a unique fixed point of $R_p(x)$ which is distinct from p. Moreover,

(1) if $p > \lambda - 1$, then $S_p < \lambda - 1$.

(2) If $p < \lambda - 1$, then $S_p > \lambda - 1$.

Proof. Clearly, p and S_p are the fixed points of $R_p(x)$ which follows from (5) and (7). By (8), we have

$$\lim_{x \to 0^+} u(x) = \lim_{x \to +\infty} u(x) = +\infty.$$
(12)

Notice that

$$u'(x) = 1 - \frac{\lambda - 1}{x}x,\tag{13}$$

from which follows that u(x) has a unique critical point $\lambda - 1$ such that $u'(\lambda - 1) = 0$.

In addition, u'(x) < 0 for $x < \lambda - 1$, u'(x) > 0 for $x > \lambda - 1$ which means that u(x) is decreasing for $x < \lambda - 1$ and increasing for $x > \lambda - 1$. Then u(x) attains its minimum $u(\lambda - 1)$ when $x = \lambda - 1$. If $p > \lambda - 1$, by the above argument, we have $S_p \notin [\lambda - 1, +\infty)$. As $p \neq \lambda - 1$, we obtain

$$u(\lambda - 1) < u(p) < +\infty.$$
⁽¹⁴⁾



FIGURE 1. Shows the relation between the fixed points of $R_p(x)$. When $x = p > \lambda - 1$ then p is the stable fixed point or carrying capacity and $S_p < \lambda - 1$ is the unstable fixed point or Allee threshold. Figure shown with $p = \lambda + 1$.

Combining (12) and (14) with continuity and monotonicity of u(x), there exists a unique solution $S_p \in (0, \lambda - 1)$ of Eq.(9).

By a similar argument, if $p < \lambda - 1$, there exists a unique solution $S_p \in (\lambda - 1, +\infty)$ and the lemma is proved.

Recall that S_{λ} and $S_{\lambda+1}$ satisfy

$$u(S_{\lambda}) = u(\lambda) \tag{15}$$

$$u(S_{\lambda+1}) = u(\lambda+1),\tag{16}$$

and from Lemma 2.3 it follows that $S_{\lambda} < \lambda - 1$ and $S_{\lambda+1} < \lambda - 1$.

The next theorem identifies p and \mathcal{S}_p as the Carrying Capacity-Allee Threshold pair.

Theorem 2.4. The fixed point 0 of $R_p(x)$ is always asymptotically stable. If the fixed point $p \in (\lambda - 1, \lambda + 1)$, then p is asymptotically stable, while the other fixed point $S_p \in (S_{\lambda+1}, \lambda - 1)$ of $R_p(x)$ is unstable.

Proof. The first statement follows from $R'_p(0) = 0$. Notice that $|R'_p(p)| < 1$ for $\lambda - 1 which implies <math>p$ is asymptotically stable. By Lemma 2.3, we get $S_p < \lambda - 1$ for $p > \lambda - 1$. We next show $S_p > S_{\lambda+1}$. If not, assume $S_p \leq S_{\lambda+1}$. Since u(x) is decreasing for $x < \lambda - 1$, we have $u(S_p) \ge u(\lambda + 1)$. By Lemma 2.3 (exchange S_p with p), $p \ge \lambda + 1$. This contradicts the assumption that $p < \lambda + 1$ which implies

$$S_{\lambda+1} < S_p < \lambda - 1. \tag{17}$$

By (6) and (7), we have

$$R'_p(S_p) = (\lambda - S_p) \left(\frac{S_p}{p}\right)^{\lambda - 1} e^{p - S_p},\tag{18}$$

and

$$p - S_p = (\lambda - 1)(\log(p) - \log(S_p)).$$
 (19)

Combining (18) with (19), we obtain

$$R'_p(S_p) = \lambda - S_p. \tag{20}$$

This plus (17) leads to that

$$R'_{p}(S_{p}) > 1.$$

Hence S_p is unstable.

Theorem 2.5. If $p = \lambda - 1$, then the unique fixed point p of $R_p(x)$ is semi-stable. More precisely, p is stable from the right and unstable from the left.

The proof consists of verifying that

$$R_{\lambda-1}'(\lambda-1)=1 \quad \text{and} \quad R_{\lambda-1}''(\lambda-1)=1-\lambda<0,$$

and is omitted.

By interchanging the roles of p and S_p in Theorem 2.4, we obtain the following

Theorem 2.6. If $p \in (S_{\lambda+1}, \lambda-1)$, one fixed point p of $R_p(x)$ is unstable, the other fixed point $S_p \in (\lambda - 1, \lambda + 1)$ of $R_p(x)$ is asymptotically stable.

Definition 2.7. Let $I = [0, b] \subset \mathbb{R}^+$. A continuous function $f : I \to I$ is called an *Allee map* if the following hold:

(a) f(0) = 0.

(b) There are positive points A_f and K_f such that

f(x) < x for $x \in (0, A_f) \bigcup (K_f, b)$ and f(x) > x for $x \in (A_f, K_f)$.

Note. b can be equal to $+\infty$.

In addition, if the map is unimodal, then it is called a *unimodal Allee map*. Explicitly, unimodal is defined as follows:

Definition 2.8. A unimodal map is a continuous function $f : \mathbb{R}^+ \to \mathbb{R}^+$ for which there exists $c \in \mathbb{R}^+$ such that f is strictly increasing on [0, c] and strictly decreasing on $[c, +\infty]$. Moreover, we require that f(0) = 0.

It then follows that

$$\lim_{x \to +\infty} f(x) = M \text{ where } M \in [0, f(c)).$$

Theorem 2.9. If $p \in (S_{\lambda+1}, \lambda-1) \bigcup (\lambda-1, \lambda+1)$, then $R_p(x)$ is a unimodal Allee map.

Proof. First, we will show $R_p(x)$ is a unimodal Allee map for $p \in J \doteq (S_{\lambda+1}, \lambda - 1)$.

It is clear from (6) that $R_p(x)$ is a unimodal map. By Theorem 2.6, if $p \in (S_{\lambda+1}, \lambda - 1)$, then the companion fixed point S_p lies in $(\lambda - 1, \lambda + 1)$. From (8) and (9), when 0 < x < p and $p \in J$, we have

$$u(p) < u(x) \implies p - (\lambda - 1)\log(p) < x - (\lambda - 1)\log(x)$$

$$\implies \log(R_p(x)) < \log(x) \implies R_p(x) < x.$$
(21)

Using a similar argument,

$$R_p(x) > x \text{ for } p < x < S_p \text{ and } R_p(x) < x \text{ for } x > S_p.$$

$$(22)$$

Combining (21) and (22) with Definition 2.7, we obtain $R_p(x)$ is the unimodal Allee map for $p \in J$.

Following the same reasoning one can show that $R_p(x)$ is the unimodal Allee map for $\lambda - 1 .$

Theorem 2.10. Assume $S_{\lambda} , then the following statements are true:$

(i)
$$0 < R_p(x) < \lambda$$
. (ii) $\min_{S_\lambda \lambda - 1$.

Proof. First we will establish (i). From (4), $R_p(x) > 0$.

It is easy to verify that $R_p(x)$ attains its maximum when $x = \lambda$. Thus,

$$\max_{x \in \mathbb{R}^+} R_p(x) = R_p(\lambda) = \lambda^{\lambda} e^{p - (\lambda - 1)\log(p) - \lambda} \doteq h(p).$$
(23)

Taking the derivative of the function h(p),

$$h'(p) = \lambda^{\lambda} e^{p - (\lambda - 1)\log(p) - \lambda} \left(1 - \frac{\lambda - 1}{p}\right).$$
(24)

Consider the function h(p) for $S_{\lambda} .$

By (24), h(p) is decreasing for 0 and we obtain

$$\sup_{\Lambda (25)$$

where u is defined in (8). By (15), we have

$$h(S_{\lambda}) = h(\lambda) = \lambda^{\lambda} e^{\lambda - (\lambda - 1)\log(\lambda) - \lambda} = \lambda.$$
(26)

From (23), (25) and (26), we obtain

$$R_p(x) < \lambda \text{ for } S_\lambda < p < \lambda - 1.$$
 (27)

In a similar fashion we obtain,

 S_{2}

$$R_p(x) < \lambda \text{ for } \lambda - 1 \le p < \lambda.$$
 (28)

From (27) and (28), we have

$$R_p(x) < \lambda$$
 for $S_\lambda ,$

and from (23) and (24), we obtain

$$\min_{S_{\lambda}
(29)$$

Next we will compare $\frac{\lambda}{e} (\frac{\lambda}{\lambda-1})^{\lambda-1}$ with $\lambda - 1$. Observe that

$$\log(\frac{\lambda}{e}(\frac{\lambda}{\lambda-1})^{\lambda-1}) - \log(\lambda-1) = \lambda \left[\log(\frac{\lambda}{\lambda-1}) - \frac{1}{\lambda}\right].$$
 (30)

Let

$$f(x) = \log \frac{x}{x-1}$$
 and $g(x) = \frac{1}{x}$.

Differentiating f - g, we obtain

$$(f(x) - g(x))' = -\frac{1}{x(x-1)} + \frac{1}{x^2} < 0 \text{ for } x > 1,$$
(31)

which implies that f - g is decreasing for x > 1. By a simple computation, we have

$$\lim_{x \to +\infty} (f(x) - g(x)) = 0.$$
(32)

This plus (31) lead to

$$f(x) > g(x)$$
 for $1 < x < +\infty$. (33)

From (29), (30) and (33), we have

$$\min_{S_{\lambda} \lambda - 1,$$

and the proof is complete.

3. The composition λ -Ricker map for constant λ . In this section we study the k-periodic λ -Ricker map,

$$x_{n+1} = R_{p_n}(x_n) = x_n^{\lambda} e^{p_n - (\lambda - 1)\log(p_n) - x_n} \qquad n = 0, 1, \cdots,$$
(34)

where $\lambda > 1$, $x_n, p_n \in \mathbb{R}^+$ and p_n is a k-periodic sequence $\{p_0, p_1, \cdots, p_{k-1}\}$, i.e. $p_{i+k} = p_i$, for all $i \ge 0$.

We will find that only for very restrictive intervals of p is it possible that the composition of unimodal λ -Ricker maps is again of that type. These values are tabulated later, but only after we interpret the results for the original mapping (2).

Henceforth, "increasing" and "decreasing" shall always mean strictly increasing and strictly decreasing respectively.

The second derivative of $R_p(x)$ is

$$R_p''(x) = ((x - \lambda)^2 - \lambda)x^{\lambda - 2}e^{p - (\lambda - 1)\log(p) - x}.$$
(35)

Thus $R_p(x)$ has only two inflection points, $\lambda - \sqrt{\lambda}$ and $\lambda + \sqrt{\lambda}$ for x > 0.

Also recall the definition of S_x in (11) and the fact that $S_{\lambda-\sqrt{\lambda}}$ satisfies

$$u(S_{\lambda-\sqrt{\lambda}}) = u(\lambda - \sqrt{\lambda}). \tag{36}$$

Lemma 3.1. $S_{\lambda} < \lambda - \sqrt{\lambda}$ and $\lambda - 1 < S_{\lambda - \sqrt{\lambda}} < \lambda$ for $1 < \lambda < \lambda_0 \approx 3.08439$ where S_{λ} and $S_{\lambda - \sqrt{\lambda}}$ are defined by (15) and (36) respectively.

Proof. Clearly, $S_{\lambda} < \lambda - 1$ and $\lambda - \sqrt{\lambda} < \lambda - 1$ for $\lambda > 1$. Since u(x) is decreasing for $0 < x < \lambda - 1$, we have

$$S_{\lambda} < \lambda - \sqrt{\lambda} \iff u(S_{\lambda}) = u(\lambda) > u(\lambda - \sqrt{\lambda}).$$

Writing this out, we obtain

$$-(\lambda - 1)\log \lambda + \sqrt{\lambda} + (\lambda - 1)\log (\lambda - \sqrt{\lambda}) > 0,$$

or, noting that $\lambda - 1 > 0$, we need the following to be true,

$$\varphi(\lambda) \doteq \frac{\sqrt{\lambda}}{\lambda - 1} - \log \frac{\sqrt{\lambda} + \lambda}{\lambda - 1} > 0.$$
(37)

It is easy to see that for $0 < \varepsilon << 1$ and $\lambda \in (1, 1 + \varepsilon)$, $\varphi(\lambda) > 0$. After a lengthy computation, one sees that

$$\varphi'(\lambda) = -\frac{3-\lambda+\sqrt{\lambda}-1/\sqrt{\lambda}}{2(\lambda+\sqrt{\lambda})(\lambda-1)^2}.$$

It is easy to see that $\varphi'(\lambda) < 0$ at least on (1,4]. Producing a graph in Matlab bears this out and the graph is seen to decrease and cross the axis near 3. Again, using Matlab's "zero" finder *fsolve* in double precision with an initial guess 3, we find $\varphi(\lambda_0) = 0$ where $\lambda_0 \approx 3.08439$.

Hence if $1 < \lambda < \lambda_0$, (37) holds and $S_{\lambda} < \lambda - \sqrt{\lambda}$. From the definition of S_* and noting that $S_{\lambda} < \lambda - \sqrt{\lambda} < \lambda - 1$, it is easy seen from Figure 1 that $S_{\lambda - \sqrt{\lambda}} < \lambda$. Finally, $S_{\lambda - \sqrt{\lambda}} > \lambda - 1$ follows from Lemma 2.3.

Note. By Lemma 2.1, the allowable λ interval is (1, e + 1) where $e + 1 \approx 3.71828$. So the λ restriction on the interval $(1, \lambda_0)$ does not seem too restrictive.

As previously discussed, p_n and S_{p_n} are the fixed points of $R_{p_n}(x)$ for $n \in \{0, 1, \dots, k-1\}$.

Let

$$P = \{ p_i | i \in \{0, 1, \cdots, k-1\} \text{ and } p_i \neq \lambda - 1 \} = \mathcal{U} \cup \mathcal{V},$$
(38)

where

$$\mathcal{U} = P \cap (0, \lambda - 1) \text{ and } \mathcal{V} = P \cap (\lambda - 1, \infty).$$
(39)

Next define A_p and K_p as follows:

$$p \in \mathcal{U} \to A_p = p \text{ and } K_p = S_p$$

$$p \in \mathcal{V} \to A_p = S_p \text{ and } K_p = p.$$
(40)

By what has been shown earlier, A_p is the Allee threshold and K_p is the carrying capacity for the mapping $R_p(x)$.

Define

$$A_{\min} = \min_{p \in P} \{A_p\}, \quad A_{\max} = \max_{p \in P} \{A_p\};$$

and

$$K_{\min} = \min_{p \in P} \{K_p\}, \quad K_{\max} = \max_{p \in P} \{K_p\}.$$

Then we have the following

Theorem 3.2. Assume $1 < \lambda < \lambda_0 \approx 3.08439$ and p_n satisfies either all $p_n \in (S_{\lambda}, \lambda - \sqrt{\lambda}) \cup (S_{\lambda - \sqrt{\lambda}}, \lambda)$ or all $p_n \in [\lambda - \sqrt{\lambda}, S_{\lambda - \sqrt{\lambda}}] \setminus \{\lambda - 1\}$ for $n = 0, 1, \dots k - 1$. Then the Allee-Ricker equation (34) has two positive k-periodic orbits: one unstable orbit $\alpha = \{\alpha_0, \alpha_1, \dots, \alpha_{k-1}\} \subset [A_{\min}, A_{\max}]$ the other stable orbit $\beta = \{\beta_0, \beta_1, \dots, \beta_{k-1}\} \subset [K_{\min}, K_{\max}].$

The proof will be given in Section 4.2.

4. A general theorem. The following comes from [17, Section 3] and deals with functions that are concave and increasing on an interval containing infinity.

Definition 4.1. Given $r \geq 0$, define \mathcal{F}_r as the set of all continuous functions $f : \mathbb{R}^+ \to \mathbb{R}^+$ that have the following properties:

(i)
$$f: [r, \infty) \to [r, \infty)$$
.

(ii) There exists a number $B \ge r$ such that f(B) > B and f is increasing and

concave on (B, ∞) .

(*iii*) There exists a number $x^* > B$ such that $f(x^*) < x^*$.

For $f \in \mathcal{F}_r$ define $B_f = \inf\{B\}$, where the infimum is taken over all B satisfying (*ii*). Notice that $B_f \ge r$, $f(B_f) \ge B_f$, and f is increasing and concave on (B_f, ∞) .

Lemma 4.2. [17, Lemma 3.1] For each function $f \in \mathcal{F}_r$ the iterated mapping given by

$$x_{n+1} = f(x_n)$$

has a unique fixed point L_f on the interval (B_f, ∞) . This point is asymptotically stable and attracts all orbits starting at $x \in (B_f, \infty)$.

For any function $f \in \mathcal{F}_r$, it follows from (*ii*) of Definition 4.1 that $x < f(x) < L_f$ for $x \in (B_f, L_f)$ and $L_f < f(x) < x$ for $x \in (L_f, \infty)$. Given $r \ge 0$ and $\ell \in [r, \infty)$ we define the class

$$\mathcal{U}_{r,\ell} \doteq \{ f \in \mathcal{F}_r | B_f \le \ell < L_f \}.$$

Theorem 4.3. [17, Theorem 3.2] $U_{r,\ell}$ is a semigroup under the operation of composition of maps. Moreover, for any $f,g \in U_{r,\ell}$, $B_{f\circ g} \leq \max\{B_f, B_g\}$ and if $L_f \neq L_g$, $L_{f\circ g}$ lies on the open interval with endpoints L_f and L_g . Otherwise, $L_f = L_g = L_{f\circ g}$.

Note. From Lemma 4.2, $L_{f \circ g}$ is a unique fixed point of $f \circ g$ for $x > B_{f \circ g}$.

It is this semigroup property that is key to studying periodic equations. In this next section we will set forth conditions that guarantee that the unimodal Allee maps form a semigroup with respect to composition.

4.1. A new class of mappings. We next define the class \mathcal{G} to be all functions which satisfy

 (A_1) $f \in C^1$ is a unimodal Allee map (Definitions 2.7 and 2.8),

 (A_2) All $f \in \mathcal{G}$ have the same critical point $\gamma \in (0, \infty)$ at which a maximum takes place so that f is increasing for $x < \gamma$ and f is decreasing for $x > \gamma$.

 (A_3)

$$\sup_{f\in\mathcal{G}}\{K_f\}<\gamma.$$

 (A_4)

$$\sup_{f \in \mathcal{G}} \{A_f\} < \inf_{f \in \mathcal{G}} \{K_f\}.$$

Define

 $\mathfrak{I}_f = \{ x \in (0, \gamma) \mid x \text{ is an inflection point of } f \}.$

 (A_5) Either

$$\sup_{f \in \mathcal{G}} \{A_f\} \le \inf_{f \in \mathcal{G}} \inf \mathfrak{I}_f \le \sup_{f \in \mathcal{G}} \sup \mathfrak{I}_f \le \inf_{f \in \mathcal{G}} \{K_f\}$$
(A5-1)

or

$$\sup_{f \in \mathcal{G}} \sup \mathfrak{I}_f \le \inf_{f \in \mathcal{G}} \{A_f\}. \tag{A_5-2}$$

Note that due to A_4 there must be at least one strict inequality in (A_5-1) .

Theorem 4.4. Let $f, g \in \mathcal{G}$,

- (a) The class of functions G is a semigroup under the operation of composition of maps, i.e. f ∘ g ∈ G,
- (b) If $A_f \neq A_g$ then $A_{f \circ g}$ lies on the open interval with endpoints A_f and A_g . Otherwise $A_{f \circ g} = A_f = A_g$.

(c) If $K_f \neq K_g$ then $K_{f \circ g}$ lies on the open interval with endpoints K_f and K_g . Otherwise $K_{f \circ g} = K_f = K_g$.

Proof. Let $f, g \in \mathcal{G}$ be given.

Claim 1. The composition $f \circ g$ is a unimodal map and satisfies condition (A_2) and (A_3) in the definition of the class \mathcal{G} .

Since both f and g satisfy conditions (A_1) and (A_2) of the class \mathcal{G} , it follows that

$$f'(\gamma) = g'(\gamma) = 0, \tag{41}$$

and thus f and g attain its maximum when $x = \gamma$.

From condition (A_3) , $\gamma > K_f$ and $\gamma > K_g$ which implies $f(\gamma) < \gamma, g(\gamma) < \gamma$. Hence

$$f(x) < \gamma \text{ and } g(x) < \gamma \text{ for } x > 0.$$
 (42)

Taking the derivative of $f \circ g(x)$,

$$[f \circ g(x)]' = f'(g(x))g'(x), \tag{43}$$

and from (42), f'(g(x)) > 0 for all x > 0.

From (41) and (43), γ is the critical point of $f \circ g$. Since f and g are increasing for $x < \gamma$ and decreasing for $x > \gamma$ and (43), $f \circ g$ is a unimodal map that increases for $x < \gamma$ and decreases for $x > \gamma$. Thus $f \circ g$ attains its maximum when $x = \gamma$. This establishes (A_2) .

For all $x < \max\{K_f, K_g\} < \gamma$, we have

$$f \circ g(x) < f \circ g(\gamma) = f(g(\gamma)) < f(\gamma) < \gamma.$$

which implies that

$$K_{f \circ g} < \gamma. \tag{44}$$

Hence $f \circ g$ satisfies condition (A_3) and Claim 1 is established.

Claim 2. (b) is true.

Since f and g are Allee maps, by Definition 2.7 and monotonicity of f and g on $[0, \gamma]$, if $A_g < A_f$, then

$$f(g(A_g)) = f(A_g) < A_g.$$

$$\tag{45}$$

Combining with condition (A_4) , we have,

$$A_g < A_f < K_g \Longrightarrow g(A_f) > A_f$$

This plus (42) lead to

$$f(g(A_f)) > f(A_f) = A_f.$$
 (46)

Similarly if $A_g > A_f$, we get

$$f(g(A_g)) = f(A_g) > A_g, \tag{47}$$

and

$$g(A_f) < A_f \Longrightarrow f(g(A_f)) < f(A_f) = A_f.$$
(48)

From (45) through (48), there exists a fixed point $A_{f \circ g}$ of $f \circ g$ such that $A_{f \circ g}$ lies strictly between A_f and A_g , thus establishing (b). Since $f \circ g$ is increasing, $A_{f \circ g}$ is indeed an Allee fixed point.

The case $A_g = A_f$ is trivial since a common fixed point is also a fixed point of the composition. Thus Claim 2 is established.

Claim 3. (c) is true.

If $K_g < K_f$, by condition (A_4) and monotonicity of f and g, we get

$$\max\{A_f, A_g\} < K_g < K_f \Longrightarrow f(g(K_g)) = f(K_g) \ge K_g, \tag{49}$$

and

$$g(K_f) < K_f \Longrightarrow f(g(K_f)) < f(K_f) = K_f.$$
(50)

Similarly if $K_q > K_f$, we have

$$f(g(K_g)) < K_g \text{ and } f(g(K_f)) > K_f.$$
(51)

From (49) through (51), there exists a fixed point $K_{f \circ g}$ of $f \circ g$ such that $K_{f \circ g}$ lies strictly between K_f and K_g .

The case $K_f = K_g$ is treated as in Claim 2. Thus Claim 3 is established.

Claim 4. (A_4) is true.

Since it is true for each map,

$$A_{f \circ g} < \max\{A_f, A_g\} < \min\{K_f, K_g\} < K_{f \circ g},$$

and therefore it is true for the composition, thus establishing Claim 4.

Claim 5. The composition $f \circ g$ is an Allee map and (A_1) and (A_5) are satisfied.

We first lay some groundwork before considering the cases (A_5-1) and (A_5-2) . Let

$$\overline{I} = \sup(\mathfrak{I}_f \cup \mathfrak{I}_g) \text{ and } \underline{I} = \inf(\mathfrak{I}_f \cup \mathfrak{I}_g).$$

Define the extensions,

$$F_{-}(x) = \begin{cases} f(x), & x \in [0, \underline{I}] \\ f(\underline{I}) + f'(\underline{I})(x - \underline{I}), & x \in (\underline{I}, \infty) \end{cases}$$

and

$$G_{-}(x) = \begin{cases} g(x), & x \in [0, \underline{I}] \\ g(\underline{I}) + g'(\underline{I})(x - \underline{I}), & x \in (\underline{I}, \infty). \end{cases}$$

These are increasing convex functions on \mathbb{R}^+ . Clearly $F_-^{-1}, G_-^{-1} \in \mathcal{U}_{0,0}$ where F_-^{-1} and G_{-}^{-1} represent the inverse function of F_{-} and G_{-} respectively and are increasing concave functions on \mathbb{R}^+ . Recall that $\mathcal{U}_{0,0}$ is a semigroup under composition. By Lemma 4.2 and Theorem 4.3, the following statements are true (recall the definition of B in Definition 4.1):

$$(B_1) \ G_{-}^{-1} \circ F_{-}^{-1} \in \mathcal{U}_{0,0}$$

 $\begin{array}{l} (B_1) \ G_{-}^{-1} \circ F_{-}^{-1} \in \mathcal{U}_{0,0}. \\ (B_2) \ B_{G_{-}^{-1} \circ F_{-}^{-1}} \leq \max\{B_{F_{-}^{-1}}, B_{G_{-}^{-1}}\} = 0 \Longrightarrow B_{G_{-}^{-1} \circ F_{-}^{-1}} = 0. \end{array}$

(B₃) There exists at most one fixed point of $f \circ g$ for $0 < x < \underline{I}$.

By the condition (A_5) and (B_1) , if $\max\{A_f, A_q\} \leq \underline{I}$, then

$$\max\{A_f, A_g\} \le \underline{I} \le \inf \mathfrak{I}_{f \circ g}.$$
(52)

Recall that γ is the common critical point at which f and g attain their maximums and define

$$F_{+}(x) = \begin{cases} f(x), & x \in [\overline{I}, \gamma - \varepsilon] \\ f(\gamma - \varepsilon) + f'(\gamma - \varepsilon)(x - \gamma + \varepsilon), & x \in (\gamma - \varepsilon, \infty) \end{cases}$$

and

$$G_{+}(x) = \begin{cases} g(x), & x \in [\overline{I}, \gamma - \varepsilon] \\ g(\gamma - \varepsilon) + g'(\gamma - \varepsilon)(x - \gamma + \varepsilon), & x \in (\gamma - \varepsilon, \infty) \end{cases}$$

where ε is a sufficiently small positive real number so that $\max\{K_f, K_g\} < \gamma - \varepsilon$.

Similarly we have $F_+, G_+ \in \mathcal{U}_{\bar{I},\ell}$. By Lemma 4.2 and Theorem 4.3 , the following statements are true:

 $(C_1) F_+ \circ G_+ \in \mathcal{U}_{\overline{I},\ell}.$

 $(C_2) B_{F_+ \circ G_+} \le \max\{B_{F_+}, B_{G_+}\}.$

 (C_3) There exists a unique fixed point $K_{f \circ g}$ on the closed interval with endpoints K_f and K_g .

By condition (A_5) and (C_1) , if $\overline{I} \leq \min\{K_f, K_q\}$, then

$$\sup \mathcal{I}_{f \circ q} \le \overline{I} \le \min\{K_f, K_q\}.$$
(53)

If $\overline{I} \leq \min\{A_f, A_g\}$, then

$$\sup \mathfrak{I}_{f \circ g} \le \overline{I} \le \min\{A_f, A_g\}.$$
(54)

From (52) - (54), $f \circ g$ satisfies condition (A_5) .

We next prove that the composition $f \circ g$ is an Allee map. Since we know by *Claim* 2 and *Claim* 3 that there exists two fixed points $A_{f \circ g}$ and $K_{f \circ g}$ of $f \circ g$ that lie on the two closed intervals with endpoints A_f and A_g , K_f and K_g respectively, we first show the uniqueness of $A_{f \circ g}$ and $K_{f \circ g}$. There are two cases.

Case (A₅-1). $\max\{A_f, A_g\} \leq \underline{I} \leq \overline{I} \leq \min\{K_f, K_g\}.$

In this case f(x) > x and g(x) > x for $\underline{I} \leq x < \min\{K_f, K_g\}$. Since f and g are increasing for $0 < x < \gamma$, we get

$$f \circ g(x) > f(x) > x \text{ for } \underline{I} \le x < \min\{K_f, K_g\}.$$
(55)

Hence $B_{F_+ \circ G_+} = \overline{I}$. This plus condition (C_3) and (55) imply $K_{f \circ g}$ is the unique fixed point of $f \circ g$ for $x \in [\underline{I}, \gamma)$. Furthermore $f \circ g(x) > x$ for $\underline{I} \leq x < K_{f \circ g}$ and $f \circ g(x) < x$ for $K_{f \circ g} < x < \gamma$. If $0 < x < \min\{A_f, A_g\}$, then f(x) < x and g(x) < x. Similarly we have

$$f \circ g(x) < f(x) < x \text{ for } 0 < x < \min\{A_f, A_g\}.$$
 (56)

From (55) and (56) and (B₃), there exists the unique fixed point $A_{f \circ g}$ of $f \circ g$ for $x \in (0, \underline{I}]$. In addition $f \circ g(x) < x$ for $0 < x < A_{f \circ g}$ and $f \circ g(x) > x$ for $A_{f \circ g} < x \leq \underline{I}$.

Case (A_5-2) . $\overline{I} \leq \min\{A_f, A_g\}$.

In this case, by (56) we have

$$f \circ g(x) < x \text{ for } 0 < x < \overline{I} \tag{57}$$

Combing Lemma 4.2 and Theorem 4.3, we obtain exactly two fixed points $A_{f \circ g}$ and $K_{f \circ g}$ of $f \circ g$. Furthermore $f \circ g(x) < x$ for $x \in (0, A_{f \circ g}) \bigcup (K_{f \circ g}, \gamma)$ and $f \circ g(x) > x$ for $x \in (A_{f \circ g}, K_{f \circ g})$.

As previously discussed, we have $f \circ g(x) < x$ for $x \in (0, A_{f \circ g}) \bigcup (K_{f \circ g}, \gamma)$ and $f \circ g(x) > x$ for $x \in (A_{f \circ g}, K_{f \circ g})$. Since $\gamma > \max\{K_f, K_g\}, f(x) < x, g(x) < x$ for $x > \gamma$. Thus $f \circ g(x) = f(g(x)) < f(x) < x$ for $x > \gamma$ which follows since f and g are decreasing for $x > \gamma$. Thus $f \circ g$ is an Allee map and Claim 5 is established.

From Claim 1 and Claim 5, $f \circ g$ satisfies condition (A_1) . Thus the composition $f \circ g$ satisfies conditions $(A_1) - (A_5)$ which establishes (a) and the Theorem is proved.

4.2. Proof of theorem **3.2**.

Proof. Assume $1 < \lambda < \lambda_0$ and $p_n \in (S_\lambda, \lambda - \sqrt{\lambda}) \bigcup (S_{\lambda - \sqrt{\lambda}}, \lambda)$ for $n = 0, 1, \dots k - 1$. Thus for each $R_i(x)$ where $i \in P$, defined in (38), we obtain the following conclusions:

 $(D_1) R_p(x)$ is a unimodal Allee map and there exist only two nonzero fixed points A_p and K_p which follows from Theorem 2.9.

 (D_2) All $R_p(x)$ have the same critical point γ and $R_p(x)$ is increasing for $x < \gamma$ and decreasing for $x > \gamma$. Moreover, it follows from Theorem 2.10 that $K_p < \gamma$. (D_3) From (38), (39) and (40) it follows that

$$\max_{p \in P} \{A_p\} < \min_{p \in P} \{K_p\}.$$

 (D_4) From the discussion following (35), each R_p has a unique inflection point I_{R_p} in the interval $0 < x < \gamma$. Moreover,

$$\max_{p \in P} \{A_p\} \le \min_{p \in P} \{I_{R_p}\} \le \max_{p \in P} \{I_{R_p}\} \le \min_{p \in P} \{K_p\},$$

where at least one of the inequalities is strict.

Recall the definition of \mathcal{G} , and notice that $R_i(x) \in \mathcal{G}$ for $i \in P$, where P is defined in (38). It follows by Theorem 4.4 that $F_0 = R_{p_{k-1}} \circ R_{p_{k-2}} \circ \cdots \circ R_{p_0} \in \mathcal{G}$ which implies that F_0 is an Allee map and has only two nonzero fixed points A_{F_0} and K_{F_0} . Moreover, A_{F_0} is unstable and K_{F_0} is asymptotically stable. To show A_{F_0} and K_{F_0} lie in (A_{\min}, A_{\max}) and (K_{\min}, K_{\max}) respectively, we use induction in the case where at least one pair of maps are unequal. From Theorem 4.4,

$$\min\{A_{p_0}, A_{p_1}\} < A_{R_{p_1} \circ R_{p_0}} < \max\{A_{p_0}, A_{p_1}\},$$

and

$$\min\{K_{p_0}, K_{p_1}\} < K_{R_{p_1} \circ R_{p_0}} < \max\{K_{p_0}, K_{p_1}\}.$$

Assume as an induction hypothesis,

$$\min_{0 \le i \le m} \{A_{p_i}\} < A_{R_{p_m} \circ \dots \circ R_{p_0}} < \max_{0 \le i \le m} \{A_{p_i}\},$$

and

$$\min_{0 \le i \le m} \{ K_{p_i} \} < K_{R_{p_m} \circ \dots \circ R_{p_0}} < \max_{0 \le i \le m} \{ K_{p_i} \}$$

Applying Theorem 4.4 to $R_{p_{m+1}}$ and $R_{p_m} \circ \cdots \circ R_{p_0}$ we get

$$\min\{A_{p_{m+1}}, A_{R_{p_m} \circ \dots \circ R_{p_0}}\} < A_{R_{p_{m+1}} \circ \dots \circ R_{p_0}} < \max\{A_{p_{m+1}}, A_{R_{p_m} \circ \dots \circ R_{p_0}}\},$$

and

$$\min\{K_{p_{m+1}}, K_{R_{p_m}\circ\cdots\circ R_{p_0}}\} < K_{R_{p_{m+1}}\circ\cdots\circ R_{p_0}} < \max\{K_{p_{m+1}}, K_{R_{p_m}\circ\cdots\circ R_{p_0}}\}.$$

From the induction hypothesis it follows that

$$\min_{0 \le i \le m+1} \{A_{p_i}\} < A_{R_{p_{m+1}} \circ \dots \circ R_{p_0}} < \max_{0 \le i \le m+1} \{A_{p_i}\},$$

and

$$\min_{0 \le i \le m+1} \{ K_{p_i} \} < K_{R_{p_{m+1}} \circ \dots \circ R_{p_0}} < \max_{0 \le i \le m+1} \{ K_{p_i} \}.$$

This shows that $A_{F_0} = A_{R_{p_{k-1}} \circ R_{p_{k-2}} \circ \cdots \circ R_{p_0}} \in (A_{\min}, A_{\max})$ and $K_{F_0} = K_{R_{p_{k-1}} \circ R_{p_{k-2}} \circ \cdots \circ R_{p_0}} \in (K_{\min}, K_{\max})$ which implies $K_{F_0} < \lambda$. To show that the two entire periodic orbits lie in (A_{\min}, A_{\max}) and (K_{\min}, K_{\max}) respectively, notice that $A_{F_i} = A_{R_{p_{i-1}} \circ \cdots \circ R_{p_{k-1}} \circ \cdots \circ R_{p_{i+1}} \circ R_{p_i}}$ and $K_{F_i} = K_{R_{p_{i-1}} \circ \cdots \circ R_{p_{i+1}} \circ R_{p_i}}$ and apply a similar argument.

The remaining case in which all the mappings are the same follows since they all share the same fixed points.

This proves Theorem 3.2 in the case where all the $p_n \in (S_\lambda, \lambda - \sqrt{\lambda}) \cup (S_{\lambda - \sqrt{\lambda}}, \lambda)$. A similar argument establishes the result when all the $p_n \in [\lambda - \sqrt{\lambda}, S_{\lambda - \sqrt{\lambda}}] \setminus \{\lambda - 1\}$.

5. Attenuation and resonance. We wish to determine whether periodic fluctuations in the parameters in a dynamical system produce *attenuation* or *resonance* which we now define. Let $\{\bar{x}\} = \{\bar{x}_0, \bar{x}_1, \dots, \bar{x}_{k-1}\}$ be an asymptotically stable *k*-periodic solution of (34) and $K = \{K_0, K_1, \dots, K_{k-1}\}$ be the carrying capacities of the individual maps R_{p_n} , $n = 0, 1, \dots, k-1$.

Definition 5.1. A periodic solution $\{\bar{x}\}$ of equation (34) is said to be *attenuant* or *resonant* if

$$av(\bar{x}) < av(K) \text{ or } av(\bar{x}) > av(K)$$

respectively, where "av" represent the average of any *n*-periodic sequence $t = \{t_0, t_1, \dots, t_{n-1}\},\$

$$av(t) = \frac{1}{n} \sum_{i=0}^{n-1} t_i.$$

The interpretation, at least in population biology, is quite straightforward. Attenuation means the periodic environmental fluctuations have a deleterious effect on the average population whereas resonance has the exact opposite enhancing effect. In [5] they considered the 2-periodic Beverton-Holt equation and proved there exists a globally attracting asymptotic stable periodic solution that exhibited attenuation. They further conjectured [6] the same would be true for higher periods. In 2003 a complete solution was announced [10] and later appeared in [11]. Thereafter followed solutions using different techniques [20], [21, 22]. In [12] the resonance question was solved in the 2-periodic case where a pair of parameters, the intrinsic growth rate and the carrying capacities, were allowed to vary periodically. In fact a formula was derived giving an exact expression for the difference,

$$av(K) - av(a).$$

The expression was rather involved for such a simple situation and the second author even commented "the calculations, even for period 4, seem daunting at best." In 2011 the first author took up the challenge and there resulted [33] where the expression was derived for arbitrary period. In addition an informal conjecture as to the root cause of resonance was proven to be wrong.

In [27] the periodic Ricker maps $f_i = xe^{p_i-x}$, $p_i \in (0,2)$, $i = 0, 1, \dots, k-1$ was studied and it was shown that the periodic difference equation $x_{n+1} = f_n(x_n)$ always has a periodic solution $\bar{x} = \{\bar{x}_0, \bar{x}_1, \dots, \bar{x}_{k-1}\}$ that globally attracts all solutions with $x_0 > 0$ and there is neither attenuation nor resonance.

Next observe that for each Allee-Ricker map defined by (34),

$$\frac{x_{i+1}}{x_i} = x_i^{\lambda-1} e^{p_i - (\lambda-1)\log(p_i) - x_i}, \ i = 0, 1, \dots k - 1,$$

and if $\{x_i\}$ is a periodic orbit then $x_k = x_0$ and therefore,

$$\prod_{i=0}^{k-1} \frac{x_{i+1}}{x_i} = \prod_{i=0}^{k-1} x_i^{\lambda-1} e^{p_i - (\lambda-1)\log(p_i) - x_i} = \frac{x_k}{x_0} = 1.$$

Thus, the natural logarithm of the second product must be zero, from which it follows that

$$av(\bar{x}) - av(p) = (\lambda - 1)\frac{1}{k}\sum_{i=0}^{k-1} (\log(x_i) - \log(p_i)).$$
(58)

According to the discussion in Section 2, p_i are not alway equal to K_i , but we still wish to compute,

$$av(\bar{x}) - av(K) = (\lambda - 1)\frac{1}{k} \sum_{i=0}^{k-1} (\log(x_i) - \log(K_{p_i})).$$
(59)

Two cases occur here. First if all the carrying capacities K_i are known a priori and satisfy the conditions of Theorem 3.2, then one simply chooses $p_i = K_i$ in (58). The second case is more interesting when we suppose for certain values of the index *i*, say

$$i \in \mathcal{U} \subset \{0, 1, 2, \dots, k-1\},\$$

the Allee threshold is the only fixed point of

$$R_{p_i}(x) = x^{\lambda} e^{p_i - (\lambda - 1)\log(p_i) - x},$$

that can be measured (aside from 0). Then for $i \in \mathcal{U}$, $p_i = A_i < \lambda - 1$. In order to compute K_i , let $\sigma = p_i$ and form $a = u(\sigma)$, see Figure 1. Then find S_{σ} , the other solution of $u(S_{\sigma}) = a$. Then $K_i = S_{\sigma}$. We know from Theorem 3.2 that $S_{\sigma} \in (\lambda - 1, \lambda)$. This requires a solver that won't stray from that interval, e.g. simple bisection method.

6. Interpretation of results for the original λ -Ricker equation. We began this study of the λ -Ricker equation (1)-(2) which we repeat here

$$x_{n+1} = \mathcal{R}_{\rho}(x_n), \quad \text{where} \quad \mathcal{R}_{\rho}(x) = x^{\lambda} e^{\rho - x}, \quad \lambda > 1, \quad \rho > 0.$$
(60)

Theorem 3.2 tells us that if $1 < \lambda < \lambda_0 \approx 3.08439$ and *exactly* one of the following conditions $(\mathcal{C}_1, \mathcal{C}_2)$ hold, then there is an unstable periodic Allee state and a periodic attracting state each lying within the envelopes of the Allee thresholds and carrying capacities respectively of the individual maps, $\mathcal{R}_{\rho_n}(x_n)$:

- \mathcal{C}_1 : All $p_n \in (S_\lambda, \lambda \sqrt{\lambda}) \cup (S_{\lambda \sqrt{\lambda}}, \lambda)$ $n = 0, 1, \dots, k 1,$
- \mathcal{C}_2 : All $p_n \in [\lambda \sqrt{\lambda}, S_{\lambda \sqrt{\lambda}}] \setminus \{\lambda 1\}$ $n = 0, 1, \dots, k 1$.

The relation between the p_n and the ρ_n comes from (4) and (8) and is given by

$$\rho = u_{\lambda}(p) = p - (\lambda - 1)\log(p),$$

where we have now indicated by a subscript the dependence on λ to avoid confusion in interpreting Table 6.

But the function $u_{\lambda}(p)$, for $p \neq \lambda - 1$, is 2-to-1 (see Figure 1) and S_p was defined so that $u_{\lambda}(S_p) = u_{\lambda}(p)$ whenever $p \neq \lambda - 1$. Thus each interval in C_1 gives rise to the same interval of ρ values. Likewise the ρ values determined by C_2 are completely determined by either of the two *p*-intervals $[\lambda - \sqrt{\lambda}, \lambda - 1)$ or $(\lambda - 1, S_{\lambda - \sqrt{\lambda}}]$, see Table 1.

Table 1: For various admissible values of λ , $1 < \lambda < \lambda_0 \approx 3.08439$, the boundaries of the intervals of validity of Theorem 3.2 are shown. The valid ρ values are found using the last three columns and the fact that $u_{\lambda}(*) = u_{\lambda}(S_*)$, e.g. for $\lambda = 2$, all ρ values must be in $(u_{\lambda}(\lambda - 1), u_{\lambda}(\lambda - \sqrt{\lambda})] = (1.0, 1.12059]$ or all ρ values must be in $(u_{\lambda}(\lambda - \sqrt{\lambda}), u_{\lambda}(\lambda)) = (1.12059, 1.30865).$ $u_{\lambda}(\lambda - \sqrt{\lambda})$ λ $\lambda - \sqrt{\lambda}$ $S_{\lambda-\sqrt{\lambda}}$ $u_{\lambda}(\lambda)$ $u_{\lambda}(\lambda - 1)$ S_{λ} a0.08712 0.20914 0.19979 1.050.0253011.04756a0.051190.172911.09047 0.348410.330261.1 1.20.104550.00302 0.340971.163540.556160.521891.22129 1.30.159820.01812 0.504920.709920.661190.216780.665351.265411.40.04762 0.828320.766521.297271.50.275260.08928 0.822700.92028 0.846571.317991.60.335090.140510.977370.991100.906501.70.396160.19922 1.129651.328561.044320.949671.80.458360.263841.279811.329771.082440.978511.90.521600.33319 1.428051.322331.10737 0.994822.00.585790.40638 1.574571.308651.120591.00000 2.10.650860.482721.719511.283871.123270.995162.20.716760.561691.86301 1.253851.11638 0.98121 2.30.783420.642882.005191.217220.958931.100732.40.850810.725942.146151.174341.07701 0.928940.918862.285991.125562.50.81061 1.045790.891802.60.987550.89667 2.42478 1.07118 1.00760 0.847992.71.056831.011470.98393 2.562600.962860.797932.81.12668 1.072250.94669 0.741982.699510.911982.91.197061.161502.835570.877050.855310.680483.01.267951.251572.970830.80278 0.793150.613703.081.325011.324153.078490.740150.739660.55667

^{*a*} values not reliable

Acknowledgments. RJS is supported by a University of Southern California, Dornsife School of Letters Arts and Sciences Faculty Development Grant and YY is supported by Natural Science Foundation of Chongqing (No.cstc2013jcyjA10049) and Research Foundation of Chongqing University of Science and Technology (No.CK2011B36).

The authors thank the referee for a careful reading and constructive comments.

REFERENCES

- L. Allen, J. Fagan, G. Hognas and H. Fagerholm, Population extinction in discrete-time stochastic population models with an Allee effect, J. Difference Eq. & Appl., 11 (2005), 273–293.
- [2] R. J. H. Beverton and S. J. Holt, On the dynamics of exploited fish populations, volume 11 of Fish and Fisheries Series, Chapman and Hall, London, 1957, reprinted, 1993.
- [3] J. M. Cushing, The Allee effect in age-structured population dynamics, In T. Hallam, L. Gross, and S. Levin, editors, *Mathematical Ecology*, pages 479–505. World Sci. Publ., Teaneck, NJ, 1988.
- [4] J. M. Cushing, Oscillations in age-structured population models with Allee effect, J. Comput. and Appl. Math., 52 (1994), 71–80.

- [5] J. M. Cushing and S. M. Henson, Global dynamics of some periodically forced, monotone difference equations, J. Difference Eq. & Appl., 7 (2001), 857–872.
- [6] J. M. Cushing and S. M. Henson, A periodically forced Beverton-Holt equation, J. Difference Eq. & Appl., 8 (2002), 1119–1120.
- [7] H. G. Davis, C. M. Taylor, J. C. Civille and D. R. Strong, An Allee effect at the front of a plant invasion: Spartina in a Pacific estuary, J. Ecology, 92 (2004), 321–327.
- [8] B. Dennis, Allee effects: Population growth, critical density and the chance of extinction, Natural Resource Modeling, 3 (1989), 481–538.
- [9] S. Elaydi, An Introduction to Difference Equations, Undergraduate Texts in Mathematics. Springer, New York, USA, third edition, 2005.
- [10] S. Elaydi and R. J. Sacker, Global stability of periodic orbits of nonautonomous difference equations in population biology and the Cushing-Henson conjecture, In S. Elaydi, G. Ladas, B. Aulbach, and O. Dosly, editors, 8th Internat. Conf. on Difference Equations and Appl. (2003), Brno, Czech Republic, pages 113–126. Chapman and Hall, 2005.
- [11] S. Elaydi and R. J. Sacker, Nonautonomous Beverton-Holt equations and the Cushing-Henson conjectures, J. Difference Eq. & Appl., 11 (2005), 337–346.
- [12] S. Elaydi and R. J. Sacker, Periodic difference equations, population biology and the Cushing-Henson conjectures, Math. Biosciences, 201 (2006), 195–207.
- [13] S. Elaydi and R. J. Sacker, Population models with Allee effect, A new model, J. Biological Dynamics, 4 (2010), 397–408.
- [14] H. Eskola and K. Parvinen, On the mechanistic underpinning of discrete-time population models, *Theor. Popul. Biol.*, **72** (2007), 41–51.
- [15] M. S. Fowler and G. D. Ruxton, Population dynamic consequences of Allee effects, J. Theor. Biol., 215 (2002), 39–46.
- [16] A. Friedman and A.-A. Yakubu, Fatal disease and demographic allee effect, population persistence and extinction, J. Biological Dynamics, 6 (2012), 495–508.
- [17] G. R. J. Gaut, K. Goldring, F. Grogan, C. Haskell and R. J. Sacker, Difference equations with the Allee effect and the periodic sigmoid Beverton-Holt equation revisited, J. Biological Dynamics, 6 (2012), 1019–1033.
- [18] A. J. Harry, C. M. Kent and V. L. Kocic, Global behavior of solutions of a periodically forced Sigmoid Beverton-Holt model, J. Biological Dynamics, 6 (2012), 212–234.
- [19] S. R.-J. Jang, Allee effects in a discrete-time host-parasitoid model, J. Difference Eq. & Appl., 12 (2006), 165–181.
- [20] V. L. Kocic, A note on the nonautonomous Beverton-Holt model, J. Difference Eq. and Appl., 11 (2005), 415–422.
- [21] R. Kon, A note on attenuant cycles of population models with periodic carrying capacity, J. Difference Eq. Appl., 10 (2004), 791–793.
- [22] R. Kon, Attenuant cycles of population models with periodic carrying capacity, J. Difference Eq. Appl., 11 (2005), 423–430.
- [23] J. Li, B. Song and X. Wang, An extended discrete Ricker population model with Allee effects, J. Difference Eq. & Appl, 13 (2007), 309–321.
- [24] R. Luís, E. Elaydi and H. Oliveira, Nonautonomous periodic systems with Allee effects, J. Difference Eq. & Appl., 16 (2010), 1179–1196.
- [25] R. A. Myers, N. J. Barrowman, J. A. Hutchings and A. A. Rosenberg, Population dynamics of exploited fish stocks at low population levels, *Science*, **269** (1995), 1106–1108.
- [26] C. Pötzsche, Geometric Theory of Discrete Nonautonomous Dynamical Systems. Lecture Notes in Mathematics, 2002, Springer, Berlin, 2010.
- [27] R. J. Sacker, A Note on periodic Ricker maps, J. Difference Eq. & Appl., 13 (2007), 89–92.
- [28] S. J. Schreiber, Allee effects, extinctions, and chaotic transients in simple population models, *Theor. Pop. Biol.*, 64 (2003), 201–209.
- [29] P. A. Stephens and W. J. Sutherland, Vertebrate mating systems, Allee effects and conservation, In M. Apollonio, M. Festa-Bianchet, and D. Mainardi, editors, Vertebrate mating systems, pages 186–213, Singapore, 2000. World Scientific Publishing.
- [30] P. A. Stephens, W. J. Sutherland and R. P. Freckleton, What is the Allee effect? Oikos, 87 (1999), 185–190.
- [31] C. M. Taylor and A. Hastings, Allee effects in biological invasions, Ecology Letters, 8 (2005), 895–908.
- [32] A.-A. Yakubu, Allee effects in discrete-time SIUS epidemic models with infected newborns, J. Difference Eq. & Appl., 13 (2007), 341–356.

- [33] Y. Yang and R. J. Sacker, Resonance and attenuation in the n-periodic Beverton-Holt Equation, J. Difference Eq. & Appl., 19 (2013), 1174–1191.
- [34] S. Zhou, Y. Liu and G. Wang, The stability of predator-prey systems subject to the Allee effects, Theor. Popul. Biol., 67 (2005), 23–31.

Received April 2013; 1st revision September 2013; 2nd revision October 2013.

E-mail address: yangyi-2001@163.com *E-mail address*: rsacker@usc.edu

Copyright of Discrete & Continuous Dynamical Systems - Series B is the property of American Institute of Mathematical Sciences and its content may not be copied or emailed to multiple sites or posted to a listserv without the copyright holder's express written permission. However, users may print, download, or email articles for individual use.